50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank péges.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

Time: 3 hrs.
Note: Answer any FIVE full questions, chogsin,

1 a.
b.
o
2 a.

17EE32

C.

ird Semester B.E. Degree Exam%;natlon, Jan./Feb. 2021
{3
Electric Clrcult Analy5|s

Define and d1stmgu1sh the followmg network elements :
i) Active and passive eleménts/’
ii) Linear and nonlinear/Ci cn'cu1ts
1ii) Unilateral and B11ateml circuits
iv) Lumped and dlstnbuted elements. (08 Marks)
Reduce the network hown in Fig.Ql(b)to a smgle voltage source in series with a resistance
using source trali : formatlons %

(06 Marks)

Derive an expression for A to Y transformatlons.z & (06 Marks)

(06 Marks)

j53 3len® oSL omp

Flg Q2(b) (08 Marks)

T

Fig.Q2(c) (06 Marks)
1of4
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Module-2

State the super posmon theorem. 4{” ~ (06 Marks)

(06 Marks)
t as seen from the

(08 Marks)
(06 Marks)

Define the' foA owmg terms w1th reference to resonant circuit.

i) Resonance

ii) Q — factor

iii) Selectivity W,

iv) Bandwidth. M (08 Marks)

¢
Prove that f, =/fif, , where fi and f; are the two half power frequencies of a resonant

circuit. " Y

£ }e (06 Marks)
A resistor and "a” capacitor are in series with a variable inductor. When the circuit is
connected to’a 200V, 50Hz supply. The maximum current obtainable by varying the
inductarice*is 0.314 Amp. The voltage across the capacitor is 300V. Find the circuit
constants. d (06 Marks)

20f4
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6 a. In the network of Fig.Q6(a), K is changed{‘fr £5%051t10n atob att= 0. Solve for
. 2

,dl dd—att 0+,ifR=1000Q,L = lH;», 20.1pF and v= 100voltsz% %

dt dt’ s x4
(10 Marks)
b. In the network shown 1nf‘F1 Q6(b), the sw1tch Ki 1%op ned at t = 0. At t = 0+, solve for the

2 ' )
dev%mﬁ%ﬁbmmmklmmﬁhqw

(10 Marks)

e ﬁggw Fig.Q7(b) (10 Marks)
) -
8 a. State and prove:
i) Initial value theorem
ii) Final value 1 eorem (10 Marks)

b. Calculate 1(0+) usmg initial value theorem, given that the transform function of the current

We ol . Determine i(t) and obtain its value at t = 2sec. (10 Marks)
D(s+2)
-/ 3 of 4
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Module-5 {ﬁ
9 a. A three — phase, four wire, 208 volts ABC syste gupplies a star connected load in which

. o & @ 1'f
ZA:lom—ohms Zn—l5mohms and N,"‘lolio—ohms Find f

Xline currents, the

neutral current and the total power. (12 Marks)
b. ]6[1111man ’s theorem.
(08 Marks)
10 a.

: F1g Q10(a) (10 Marks)
b. The folIowmg equations gives the; relaponshlp between the. voltage and currents of a two-

! L7 "20.2v, —0.1v, . Obtain'T-parameters. (10 Marks)

port net\Q}vork I, =0.25v,-0.2v, ,WI
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